### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

BID DAT	E: Wednesday, December 07, 2022										
	RFB #4429			C	Clark Pipeline	Se	rvices, LLC		Guerra Unde	rgro	und, LLC
	PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ					6229 Leopard Street 5114 Balcones Woods Dr. 307-425					
	BASE BID				Corpus Chris	sti,7	X 78409		Austin,T	X 78	759
ITEM	DESCRIPTION	UNIT	QTY	U	UNIT PRICE AMOUNT			l	JNIT PRICE	AMOUNT	
Part A - 0	GENERAL										
A-01	MOBILIZATION (MAXIMUM 5% of PROJECT TOTAL)	LS	1	\$	50,000.00	\$	50,000.00	\$	320,000.00	\$	320,000.00
A-02	OZONE ADVISORY DAY	DAY	1	\$	236.00	\$	236.00	\$	4,237.00	\$	4,237.00
	SUBTOTAL PART A - GENERAL (I	tems A1	thru A2)			\$	50,236.00			\$	324,237.00
Part B - V	WATERLINE IMPROVEMENTS										
B-01	REMOVE AND DISPOSE OF 2" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	200	\$	5.00	\$	1,000.00	\$	25.00	\$	5,000.00
B-02	REMOVE AND DISPOSE OF 4" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	200	\$	14.70	\$	2,940.00	\$	30.00	\$	6,000.00
B-03	REMOVE AND DISPOSE OF 6" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	200	\$	31.86	\$	6,372.00	\$	38.00	\$	7,600.00
B-04	REMOVE AND DISPOSE OF 8" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	200	\$	33.04	\$	6,608.00	\$	40.00	\$	8,000.00
B-05	REMOVE AND DISPOSE OF 2" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	50	\$	29.50	\$	1,475.00	\$	25.00	\$	1,250.00
B-06	REMOVE AND DISPOSE OF 4" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	50	\$	31.86	<u> </u>	1,593.00	\$	30.00	\$	1,500.00
B-07	REMOVE AND DISPOSE OF 6" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	50	\$	33.04	\$	1,652.00	\$	38.00	\$	1,900.00
B-08	REMOVE AND DISPOSE OF 8" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	50	\$	35.40	\$	1,770.00	\$	40.00	\$	2,000.00
B-09	EXTRA DEPTH FOR WATERLINE REMOVALS FOR EACH VERTICAL FOR OVER 5-FT OF COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	50	\$	39.33	\$	1,966.50	\$	13.00	\$	650.00
B-11	FURNISH AND INSTALL 4" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	50	\$	28.78	\$	1,439.00	\$	186.00	\$	9,300.00
B-12	FURNISH AND INSTALL 6" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	50	\$	45.73	\$	2,286.50	\$	240.00	\$	12,000.00
B-13	FURNISH AND INSTALL 8" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	50	\$	74.21	\$	3,710.50	\$	255.00	\$	12,750.00
B-15	FURNISH AND INSTALL 4" DIAM. DIP WATERLINE (UP TO 5-FT OF COVER)	LF	50	\$	89.50	\$	4,475.00	\$	237.00	\$	11,850.00
B-16	FURNISH AND INSTALL 6" DIAM. DIP WATERLINE (UP TO 5-FT OF COVER)	LF	50	\$	72.94	\$	3,647.00	\$	263.00	\$	13,150.00
B-17	FURNISH AND INSTALL 8" DIAM. DIP WATERLINE (UP TO 5-FT OF COVER)	LF	50	\$	87.65	\$	4,382.50	\$	289.00	\$	14,450.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4429	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	ι	JNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
H_1X	EXTRA DEPTH FOR WATERLINE INSTALLATIONS FOR EACH VERTICAL FOOT OVER 5-FT OF COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	50	\$	25.17	\$ 1,258.50	\$ 6.00	\$ 300.00
B-20	FURNISH AND INSTALL 4" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	150	\$	38.17	\$ 5,725.50	\$ 83.00	\$ 12,450.00
B-21	FURNISH AND INSTALL 6" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT COVER)	LF	150	\$	65.09	\$ 9,763.50	\$ 144.00	\$ 21,600.00
B-22	FURNISH AND INSTALL 8" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	150	\$	81.30	\$ 12,195.00	\$ 158.00	\$ 23,700.00
B-23	EXTRA DEPTH FOR WATERLINE INSTALLATION FOR EACH VERTICAL FOOT OVER 5-FT COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	150	\$	25.17	\$ 3,775.50	\$ 6.00	\$ 900.00
B-24	CONNECT AND DISCONNECT SERVICE TO TEMPORARY WATER SUPPLY	EA	10	\$	1,415.11	\$ 14,151.10	\$ 4,900.00	\$ 49,000.00
B-25	POINT REPAIR IN FRONT EASEMENT	EA	10	\$	2,372.70	\$ 23,727.00	\$ 11,663.00	\$ 116,630.00
B-26	CONNECT AND DISCONNECT SERVICE TO TEMPORARY WATER SUPPLY	EA	50	\$	1,303.01	\$ 65,150.50	\$ 5,400.00	\$ 270,000.00
B-27	POINT REPAIR IN REAR EASEMENT	EA	10	\$	2,372.70	\$ 23,727.00	\$ 11,663.00	\$ 116,630.00
B-29	FURNISH AND INSTALL 4" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	50	\$	277.35	\$ 13,867.50	\$ 205.00	\$ 10,250.00
B-30	FURNISH AND INSTALL 6" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	50	\$	335.34	\$ 16,767.00	\$ 266.00	\$ 13,300.00
B-31	FURNISH AND INSTALL 8" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	50	\$	406.04	\$ 20,302.00	\$ 316.00	\$ 15,800.00
B-32	FURNISH AND INSTALL AIR RELEASE VALVES AND MANHOLE	EA	2	\$	11,911.37	\$ 23,822.74	\$ 9,640.00	\$ 19,280.00
B-33	CONSTRUCT DRILL PADS	EA	2	\$	8,850.00	\$ 17,700.00	\$ 6,420.00	\$ 12,840.00
B-35	FURNISH AND INSTALL 4" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	310	\$	277.35	\$ 85,978.50	\$ 197.00	\$ 61,070.00
B-36	FURNISH AND INSTALL 6" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	310	\$	335.34	\$ 103,955.40	\$ 247.00	\$ 76,570.00
B-37	FURNISH AND INSTALL 8" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	310	\$	406.04	\$ 125,872.40	\$ 300.00	\$ 93,000.00
B-38	FURNISH AND INSTALL AIR RELEASE VALVES AND MANHOLE	EA	10	\$	11,911.37	\$ 119,113.70	\$ 9,640.00	\$ 96,400.00
B-39	CONSTRUCT DRILL PADS	EA	10	\$	8,850.00	\$ 88,500.00	\$ 6,420.00	\$ 64,200.00
B-41	FURNISH AND INSTALL 4" C900 DR 18 FUSIBLE PVC WATERLINE WITH CASING SPACERS AND 10-INCH STEEL CASING BY HDD	LF	50	\$	383.19	\$ 19,159.50	\$ 400.00	\$ 20,000.00
B-42	FURNISH AND INSTALL 6" C900 DR 18 FUSIBLE PVC WATERLINE WITH CASING SPACERS AND 12-INCH STEEL CASING BY HDD	LF	50	\$	492.08	\$ 24,604.00	\$ 420.00	\$ 21,000.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4429	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	U	UNIT PRICE		AMOUNT	UNIT PRICE	AMOUNT
B-43	FURNISH AND INSTALL 8" C900 DR 18 FUSIBLE PVC WATERLINE WITH CASING SPACERS AND 16-INCH STEEL CASING BY HDD	LF	50	\$	581.35	\$	29,067.50	\$ 450.00	\$ 22,500.00
B-44	FURNISH AND INSTALL AIR RELEASE VALVES AND MANHOLE	EA	2	\$	13,911.37	\$	27,822.74	\$ 9,640.00	\$ 19,280.00
B-45	CONSTRUCT DRILL PADS	EA	2	\$	8,850.00	\$	17,700.00	\$ 6,420.00	\$ 12,840.00
B-47	FURNISH AND INSTALL 4" C900 DR 18 FUSIBLE PVC WATERLINE WITH CASING SPACERS AND 10-INCH STEEL CASING BY HDD	LF	310	\$	237.35	\$	73,578.50	\$ 401.00	\$ 124,310.00
B-48	FURNISH AND INSTALL 6" C900 DR 18 FUSIBLE PVC WATERLINE WITH CASING SPACERS AND 12-INCH STEEL CASING BY HDD	LF	310	\$	335.34	\$	103,955.40	\$ 436.00	\$ 135,160.00
B-49	FURNISH AND INSTALL 8" C900 DR 18 FUSIBLE PVC WATERLINE WITH CASING SPACERS AND 16-INCH STEEL CASING BY HDD	Ŀ	310	\$	406.04	\$	125,872.40	\$ 568.00	\$ 176,080.00
B-50	FURNISH AND INSTALL AIR RELEASE VALVES AND MANHOLE	EA	10	\$	11,911.37	\$	119,113.70	\$ 9,640.00	\$ 96,400.00
B-51	CONSTRUCT DRILL PADS	EA	10	\$	8,850.00	\$	88,500.00	\$ 6,420.00	\$ 64,200.00
B-52	FURNISH AND INSTALL 2" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	1,071.39	\$	10,713.90	\$ 1,152.00	\$ 11,520.00
B-53	FURNISH AND INSTALL 4" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	1,228.80	\$	12,288.00	\$ 1,398.00	\$ 13,980.00
B-54	FURNISH AND INSTALL 6" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	1,480.55	\$	14,805.50	\$ 1,704.00	\$ 17,040.00
B-55	FURNISH AND INSTALL 8" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	2,126.41	\$	21,264.10	\$ 2,471.00	\$ 24,710.00
B-63	FURNISH AND INSTALL 4" 11.25 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	285.98	\$	2,859.80	\$ 290.00	\$ 2,900.00
B-64	FURNISH AND INSTALL 4" 22.5 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	288.82	\$	2,888.20	\$ 294.00	\$ 2,940.00
B-65	FURNISH AND INSTALL 4" 45 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	293.06	\$	2,930.60	\$ 298.00	\$ 2,980.00
B-66	FURNISH AND INSTALL 4" 90 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	521.73	\$	5,217.30	\$ 73.00	\$ 730.00
B-67	FURNISH AND INSTALL 4" REDUCERS - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	561.68	\$	5,616.80	\$ 251.00	\$ 2,510.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4429	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

									,
ITEM	DESCRIPTION	UNIT	QTY	U	UNIT PRICE		AMOUNT	UNIT PRICE	AMOUNT
B-68	FURNISH AND INSTALL 4" CROSSES - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	1,116.59	\$	11,165.90	\$ 662.00	\$ 6,620.00
B-69	FURNISH AND INSTALL 4" TEES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	415.76	\$	4,157.60	\$ 475.00	\$ 4,750.00
B-70	FURNISH AND INSTALL 6" 11.25 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	372.76	\$	3,727.60	\$ 439.00	\$ 4,390.00
B-71	FURNISH AND INSTALL 6" 22.5 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	367.10	\$	3,671.00	\$ 432.00	\$ 4,320.00
B-72	FURNISH AND INSTALL 6" 45 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	378.43	\$	3,784.30	\$ 445.00	\$ 4,450.00
B-73	FURNISH AND INSTALL 6" 90 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	407.45	\$	4,074.50	\$ 476.00	\$ 4,760.00
B-74	FURNISH AND INSTALL 6" REDUCERS - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	502.68	\$	5,026.80	\$ 367.00	\$ 3,670.00
B-75	FURNISH AND INSTALL 6" CROSSES - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	699.70	\$	6,997.00	\$ 822.00	\$ 8,220.00
B-76	FURNISH AND INSTALL 6" TEES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	571.77	\$	5,717.70	\$ 683.00	\$ 6,830.00
B-77	FURNISH AND INSTALL 8" 11.25 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	482.79	\$	4,827.90	\$ 602.00	\$ 6,020.00
B-78	FURNISH AND INSTALL 8" 22.5 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	499.07	\$	4,990.70	\$ 619.00	\$ 6,190.00
B-79	FURNISH AND INSTALL 8" 45 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	503.32	\$	5,033.20	\$ 624.00	\$ 6,240.00
B-80	FURNISH AND INSTALL 8" 90 DEG BEND (MJ WITH MEGA LUG RESTRAINT FITTING)	EA	10	\$	543.67	\$	5,436.70	\$ 668.00	\$ 6,680.00
B-81	FURNISH AND INSTALL 8" REDUCERS - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	384.89	\$	3,848.90	\$ 495.00	\$ 4,950.00
B-82	FURNISH AND INSTALL 8" CROSSES - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	907.41	\$	9,074.10	\$ 1,089.00	\$ 10,890.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4429	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	ι	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT				
B-83	FURNISH AND INSTALL 8" TEES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	10	\$	783.18	\$ 7,831.80	\$ 954.00	\$ 9,540.00				
B-84	FURNISH AND INSTALL COPPER OR HDPE SHORT SERVICE (UP TO 5-FT OF COVER)	EA	20	\$	1,770.00	\$ 35,400.00	\$ 2,963.00	\$ 59,260.00				
B-85	FURNISH AND INSTALL COPPER OR HDPE LONG SERVICE (UP TO 5-FT OF COVER)	EA	20	\$	1,740.50	\$ 34,810.00	\$ 4,390.00	\$ 87,800.00				
B-86	RECONNECT COPPER OR HDPE EXISTING SERVICE TO WATERLINE	EA	20	\$	1,357.00	\$ 27,140.00	\$ 1,730.00	\$ 34,600.00				
B-87	CONNECTION TO EXISTING 2" WATERLINE	EA	20	\$	1,435.43	\$ 28,708.60	\$ 4,226.00	\$ 84,520.00				
B-88	CONNECTION TO EXISTING 4" WATERLINE	EA	20	\$	1,385.66	\$ 27,713.20	\$ 5,852.00	\$ 117,040.00				
B-89	CONNECTION TO EXISTING 6" WATERLINE	EA	20	\$	1,702.11	\$ 34,042.20	\$ 6,196.00	\$ 123,920.00				
B-90	CONNECTION TO EXISTING 8" WATERLINE	EA	20	\$	2,150.61	\$ 43,012.20	\$ 8,396.00	\$ 167,920.00				
B-91	FURNISH 4" TAPPING SLEEVE C/W 2" RW GATE VALVE	EA	2	\$	1,242.19	\$ 2,484.38	\$ 1,351.00	\$ 2,702.00				
B-92	FURNISH 6" TAPPING SLEEVE C/W 4" RW GATE VALVE	EA	2	\$	1,913.19	\$ 3,826.38	\$ 2,081.00	\$ 4,162.00				
B-93	FURNISH 8" TAPPING SLEEVE C/W 4" RW GATE VALVE	EA	2	\$	1,981.39	\$ 3,962.78	\$ 2,155.00	\$ 4,310.00				
B-94	FURNISH 8" TAPPING SLEEVE C/W 6" RW GATE VALVE	EA	2	\$	2,460.42	\$ 4,920.84	\$ 2,677.00	\$ 5,354.00				
B-95	FURNISH 2" TAPPING SLEEVE C/W 2" RW GATE VALVE	EA	2	\$	1,933.24	\$ 3,866.48	\$ 1,027.00	\$ 2,054.00				
B-96	FURNISH 4" TAPPING SLEEVE C/W 4" RW GATE VALVE	EA	2	\$	1,933.24	\$ 3,866.48	\$ 2,103.00	\$ 4,206.00				
B-97	FURNISH 6" TAPPING SLEEVE C/W 6" RW GATE VALVE	EA	2	\$	2,454.17	\$ 4,908.34	\$ 2,670.00	\$ 5,340.00				
B-98	FURNISH 8" TAPPING SLEEVE C/W 8" RW GATE VALVE	EA	2	\$	3,349.57	\$ 6,699.14	\$ 3,643.00	\$ 7,286.00				
B-99	FURNISH AND INSTALL 4" TAPPING SLEEVE C/W 2" RW GATE VALVE	EA	10	\$	1,139.54	\$ 11,395.40	\$ 5,017.00	\$ 50,170.00				
B-100	FURNISH AND INSTALL 6" TAPPING SLEEVE C/W 4" RW GATE VALVE	EA	10	\$	4,661.00	\$ 46,610.00	\$ 7,449.00	\$ 74,490.00				
B-101	FURNISH AND INSTALL 8" TAPPING SLEEVE C/W 4" RW GATE VALVE	EA	10	\$	4,602.00	\$ 46,020.00	\$ 9,630.00	\$ 96,300.00				
B-102	FURNISH AND INSTALL 8" TAPPING SLEEVE C/W 6" RW GATE VALVE	EA	10	\$	4,867.50	\$ 48,675.00	\$ 10,151.00	\$ 101,510.00				
B-103	FURNISH AND INSTALL 2" TAPPING SLEEVE C/W 2" RW GATE VALVE		10	\$	1,963.96	\$ 19,639.60	\$ 4,547.00	\$ 45,470.00				
B-104	FURNISH AND INSTALL 4" TAPPING SLEEVE C/W 4" RW GATE VALVE	EA	10	\$	4,513.50	\$ 45,135.00	\$ 6,652.00	\$ 66,520.00				
B-105	FURNISH AND INSTALL 6" TAPPING SLEEVE C/W 6" RW GATE VALVE	EA	10	\$	4,867.50	\$ 48,675.00	\$ 10,144.00	\$ 101,440.00				
B-106	FURNISH AND INSTALL 8" TAPPING SLEEVE C/W 8" RW GATE VALVE	EA	10	\$	5,811.50	\$ 58,115.00	\$ 11,119.00	\$ 111,190.00				
B-107	FURNISH AND INSTALL FH ASSEMBLY LONG LEAD (TEE, PIPE AND VALVE) GREATER THAN 14' IN LENGTH	EA	20	\$	6,341.32	\$ 126,826.40	\$ 11,792.00	\$ 235,840.00				

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4429	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

									 59,740.00 5,770.00 5,900.00 4,000.00 50.00 22,470.00 3,760.00 11,800.00 2,824.00	
ITEM	DESCRIPTION	UNIT	QTY	ι	JNIT PRICE	AMOUNT	UNIT PRIC	E	AMOUNT	
B-108	FURNISH AND INSTALL FH ASSEMBLY SHORT LEAD (TEE, PIPE AND VALVE) UP TO 14' IN LENGTH	EA	20	\$	6,282.32	\$ 125,646.40	\$ 10,054	.00	\$ 201,080.00	
B-109	REMOVE FIRE HYDRANT	EA	20	\$	1,326.24	\$ 26,524.80	\$ 2,987	.00	\$ 59,740.00	
B-110	FURNISH AND INSTALL WATER METER BOX	EA	10	\$	784.11	\$ 7,841.10	\$ 577	.00	\$ 5,770.00	
B-111	ADJUST VALVE BOX, 12" AND UNDER	EA	10	\$	560.50	\$ 5,605.00	\$ 590	.00	\$ 5,900.00	
B-112	TRENCH SAFETY FOR REMOVE AND INSTALL WATERLINE (UP TO 5-FT OF COVER)	LF	1,000	\$	11.80	\$ 11,800.00	\$ 4	.00	\$ 4,000.00	
B-113	EXTRA DEPTH FOR TRENCH SAFETY FOR REMOVE AND INSTALL FOR EACH VERTICAL FOOT OVER 5-FT OF COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)		10	\$	529.00	\$ 5,290.00	\$ 5	.00	\$ 50.00	
B-114	TRENCH SAFETY FOR HORIZONTAL DIRECTIONAL DRILL PITS (UP TO 5-FT OF COVER)	EA	10	\$	2,950.00	\$ 29,500.00	\$ 2,247	.00	\$ 22,470.00	
B-115	EXTRA DEPTH FOR TRENCH SAFETY FOR HORIZONTAL DIRECTIONAL DRILL PITS FOR EACH VERTICAL FOOT OVER 5-FT OF COVER, ADDED TO EACH (ALL PIPE SIZES)		10	\$	1,180.00	\$ 11,800.00	\$ 376	.00	\$ 3,760.00	
B-116	FURNISH AND INSTALL CEMENT STABILIZED SAND	TONS	100	\$	130.00	\$ 13,000.00	\$ 118	.00	\$ 11,800.00	
B-117	CLEARING AND GRUBBING	AC	1	\$	2,950.00	\$ 2,950.00	\$ 2,824	.00	\$ 2,824.00	
B-118	FURNISH AND INSTALL ASPHALT PAVEMENT REPAIR	SY	100	\$	147.50	\$ 14,750.00	\$ 300	.00	\$ 30,000.00	
B-119	SAWCUT ASPHALT PER 2" LIFT GREATER THAN 2" THICKNESS	LF	1,000	\$	3.54	\$ 3,540.00	\$ 1	.00	\$ 1,000.00	
B-120	FURNISH AND INSTALL ASPHALT OVERLAY PER 2" LIFT GREATER THAN 2" THICKNESS	SY	100	\$	41.30	\$ 4,130.00	\$ 57	.00	\$ 5,700.00	
B-121	REMOVE ASPHALT PER 2" LIFT GREATER THAN 2" THICKNESS	SY	500	\$	18.88	\$ 9,440.00	\$ 12	.00	\$ 6,000.00	
B-122	FURNISH AND INSTALL CONCRETE PAVEMENT REPAIR	SF	50	\$	46.91	\$ 2,345.50	\$ 55	.00	\$ 2,750.00	
B-123	SAWCUT CONCRETE PER 2" LIFT GREATER THAN 8" THICKNESS	LF	100	\$	8.85	\$ 885.00	\$ 3	.00	\$ 300.00	
B-124	FURNISH AND INSTALL CONCRETE THICKNESS PER 2" GREATER THAN 8" THICKNESS	SF	50	\$	76.70	\$ 3,835.00	\$ 13	.00	\$ 650.00	
B-125	REMOVE CONCRETE PER 2" LIFT GREATER THAN 8" THICKNESS	SF	50	\$	29.50	\$ 1,475.00	\$ 5	.00	\$ 250.00	
B-126	FURNISH AND INSTALL CONCRETE DRIVEWAY REPAIR	SF	100	\$	15.93	\$ 1,593.00	\$ 30	.00	\$ 3,000.00	
B-127	FURNISH AND INSTALL CONCRETE CURB RAMP REPAIR	SF	50	\$	44.25	\$ 2,212.50	\$ 36	.00	\$ 1,800.00	

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4429	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

F									
ITEM	DESCRIPTION	UNIT	QTY	UN	NIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
B-128	FURNISH AND INSTALL CONCRETE CURB AND GUTTER REPAIR	LF	100	\$	31.86	\$ 3,186.00	\$ 50.00	\$	5,000.00
B-129	FURNISH AND INSTALL CONCRETE VALLEY GUTTER REPAIR	LF	100	\$	55.46	\$ 5,546.00	\$ 42.00	\$	4,200.00
B-130	FURNISH AND INSTALL CONCRETE SIDEWALK REPAIR	SF	100	\$	21.24	\$ 2,124.00	\$ 21.00	\$	2,100.00
B-131	FURNISH AND INSTALL SEEDING	SY	100	\$	2.48	\$ 248.00	\$ 5.00	\$	500.00
B-132	FURNISH AND INSTALL SODDING	SY	50	\$	18.88	\$ 944.00	\$ 28.00	\$	1,400.00
B-133	FURNISH AND INSTALL WOODEN FENCE	LF	100	\$	53.10	\$ 5,310.00	\$ 43.00	\$	4,300.00
B-134	FURNISH AND INSTALL CHAIN LINK FENCING	LF	100	\$	64.90	\$ 6,490.00	\$ 43.00	\$	4,300.00
B-135	REMOVE AND REINSTALL RESIDENTIAL MAILBOX	EA	10	\$	295.00	\$ 2,950.00	\$ 391.00	\$	3,910.00
B-136	HAUL OFF CONCRETE (GREATER THAN 8 INCHES IN THICKNESS)/ASPHALT (GREATER THAN 2 INCHES THICKNESS)	HR	50	\$	182.90	\$ 9,145.00	\$ 107.00	\$	5,350.00
B-137	ABANDON 2" TO 4" WATERLINE IN PLACE AND FILL WITH GROUT	LF	100	\$	16.52	\$ 1,652.00	\$ 25.00	\$	2,500.00
B-138	ABANDON 6" TO 8" WATERLINE IN PLACE AND FILL WITH GROUT	LF	100	\$	30.68	\$ 3,068.00	\$ 40.00	\$	4,000.00
B-139	FURNISH AND INSTALL 8" STEEL CASING PIPE W/2" WATERLINE BY CONVENTIONAL TRENCHING, (UP TO 5-FT OF COVER)	LF	25	\$	182.46	\$ 4,561.50	\$ 255.00	\$	6,375.00
B-1/(()	FURNISH AND INSTALL 10" STEEL CASING PIPE W/4" WATERLINE BY CONVENTIONAL TRENCHING, (UP TO 5-FT OF COVER)	LF	25	\$	219.28	\$ 5,482.00	\$ 312.00	\$	7,800.00
I R_1//1	FURNISH AND INSTALL 12" STEEL CASING PIPE W/6" WATERLINE BY CONVENTIONAL TRENCHING (UP TO 5-FT OF COVER)	LF	25	\$	242.42	\$ 6,060.50	\$ 360.00	\$	9,000.00
B-1/17	FURNISH AND INSTALL 16" STEEL CASING PIPE W/8" WATERLINE BY CONVENTIONAL TRENCHING, (UP TO 5-FT OF COVER)	LF	20	\$	345.22	\$ 6,904.40	\$ 388.00	\$	7,760.00
B-143	EXTRA DEPTH FOR CASING AND WATERLINE INSTALLATION BY CONVENTIONAL TRENCHING FOR EACH VERTICAL FOOT OVER 5-FT OF COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	25	\$	29.89	\$ 747.25	\$ 12.00	\$	300.00
B-144	TREE REMOVAL UP TO 8" IN DIA.	EA	5	\$	442.50	\$ 2,212.50	\$ 693.00	\$	3,465.00
B-145	TREE REMOVAL GREATER THAN 8" IN DIA.	EA	5	\$	885.00	\$ 4,425.00	\$ 1,052.00	\$	5,260.00
B-146	BRUSH REMOVAL	AC	1	\$	3,540.00	\$ 3,540.00	\$ 2,406.00	\$	2,406.00
B-147	REMOVE AND REPLACE EXISTING WOODEN FENCE	LF	50	\$	35.40	\$ 1,770.00	\$ 49.00	\$	2,450.00
B-148	REMOVE AND REPLACE EXISTING CHAINLINK FENCE	LF	50	\$	41.30	\$ 2,065.00	\$ 49.00	\$	2,450.00
B-149	FURNISH FLAGGER	DAY	10	\$	472.00	\$ 4,720.00	\$ 462.00	\$	4,620.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4429	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	L	JNIT PRICE	AMOUNT		UNIT PRICE	AMOUNT
B-150	FURNISH AND INSTALL FLASHING ARROW BOARD	DAY	10	\$	147.50	\$	1,475.00	\$ 1,284.00	\$ 12,840.00
B-151	FURNISH AND INSTALL CHANNELIZATION DRUMS (10 DRUMS)	DAY	10	\$	106.20	\$	1,062.00	\$ 295.00	\$ 2,950.00
B-152	FURNISH AND INSTALL TYPE III BARRICADE	DAY	10	\$	82.60	\$	826.00	\$ 192.00	\$ 1,920.00
B-153	FURNISH AND INSTALL SKID MOUNT SIGN ON DOUBLE WOODEN POSTS	DAY	10	\$	29.50	\$	295.00	\$ 192.00	\$ 1,920.00
B-154	FURNISH AND INSTALL SILT FENCE	LF	1,000	\$	6.03	\$	6,030.00	\$ 3.00	\$ 3,000.00
B-155	FURNISH AND INSTALL FIBER ROLLS	LF	10	\$	19.01	\$	190.10	\$ 11.00	\$ 110.00
B-156	FURNISH AND INSTALL ROCK FILLED BAGS	LF	10	\$	35.53	\$	355.30	\$ 102.00	\$ 1,020.00
B-157	FURNISH AND INSTALL ROCK FILTER DAM	LS	5	\$	1,006.00	\$	5,030.00	\$ 4,714.00	\$ 23,570.00
B-158	FURNISH AND INSTALL CONSTRUCTION ENTRANCE/EXIT	LS	5	\$	2,596.00	\$	12,980.00	\$ 3,793.00	\$ 18,965.00
B-159	FURNISH AND INSTALL WELL POINTING FOR WATERLINE INSTALLATION (UP TO 5-FT OF COVER)	LF	200	\$	66.38	\$	13,276.00	\$ 77.00	\$ 15,400.00
	EXTRA DEPTH FOR WELL POINTING FOR WATERLINE INSTALLATION FOR EACH VERTICAL FOOT OVER 5-FT OF COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	50	\$	20.65	\$	1,032.50	\$ 25.00	\$ 1,250.00
B-161	CURB INLET PROTECTION (UP TO 5-FT OF COVER)	LF	200	\$	10.00	\$	2,000.00	\$ 11.00	\$ 2,200.00
B-162	PRE-CONSTRUCTION EXPLORATORY EXCAVATION (UP TO 5-FT DEPTH)	LF	200	\$	595.00	\$	119,000.00	\$ 56.00	\$ 11,200.00
B-163	EXTRA DEPTH FOR PRE-CONSTRUCTION EXPLORATORY EXCAVATION FOR EACH VERTICAL FOOT OVER 5-FT COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	50	\$	42.48	\$	2,124.00	\$ 64.00	\$ 3,200.00
B-164	POTHOLE UTILITY	EA	1	\$	2,991.30	\$	2,991.30	\$ 1,404.00	\$ 1,404.00
B-165	FURNISH AND INSTALL 2" DIA. WATERLINE CAP	EA	5	\$	499.43	\$	2,497.15	\$ 530.00	\$ 2,650.00
B-166	FURNISH AND INSTALL 4" DIA. WATERLINE CAP	EA	5	\$	614.89	\$	3,074.45	\$ 605.00	\$ 3,025.00
B-167	FURNISH AND INSTALL 6" DIA. WATERLINE CAP	EA	5	\$	666.77	\$	3,333.85	\$ 656.00	\$ 3,280.00
B-168	FURNISH AND INSTALL 8" DIA. WATERLINE CAP	EA	5	\$	717.45	\$	3,587.25	\$ 757.00	\$ 3,785.00
B-169	EMERGENCY - TRENCH EXCAVATION SAFETY PROTECTION (ALL DEPTHS)	LF	500	\$	13.60	\$	6,800.00	\$ 26.00	\$ 13,000.00
B-170	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 2" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$	2,595.71	\$	2,595.71	\$ 7,225.50	\$ 7,225.50
B-171	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 2" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$	2,595.71	\$	2,595.71	\$ 7,225.00	\$ 7,225.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4429	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	Ų	UNIT PRICE		AMOUNT	UNIT PRICE		AMOUNT
B-1/2	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 4" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$	2,705.04	\$	2,705.04	\$ 11,300.00	\$	11,300.00
H-1/4	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 4" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$	3,705.04	\$	3,705.04	\$ 11,300.00	\$	11,300.00
H-1/4	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 6" DIA. WATER LINE (ALL DEPTHS)	EA	4	\$	3,065.51	\$	12,262.04	\$ 14,802.00	\$	59,208.00
H-1/5	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 6" DIA. WATER LINE (ALL DEPTHS)	EA	4	\$	4,065.51	\$	16,262.04	\$ 14,802.00	\$	59,208.00
B-176	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 8" DIA. WATER LINE (ALL DEPTHS)	EA	4	\$	3,638.89	\$	14,555.56	\$ 16,500.00	\$	66,000.00
R-1//	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 8" DIA. WATER LINE (ALL DEPTHS)	EA	4	\$	4,638.89	\$	18,555.56	\$ 16,500.00	\$	66,000.00
H-1/X	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 10" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$	5,339.56	\$	5,339.56	\$ 18,000.00	\$	18,000.00
H-1/4	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 10" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$	7,339.56	\$	7,339.56	\$ 18,000.00	\$	18,000.00
B-180	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 12" - 14" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$	6,607.56	\$	6,607.56	\$ 23,900.00	\$	23,900.00
H-181	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 12" - 14" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$	8,607.56	\$	8,607.56	\$ 23,900.00	\$	23,900.00
H-187	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 16" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$	9,496.59	\$	9,496.59	\$ 28,000.00	\$	28,000.00
H_1XX	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 16" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$	9,496.59	\$	9,496.59	\$ 28,000.00	\$	28,000.00
H-184	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 2" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	52.07	\$	156.21	\$ 145.00	\$	435.00
R-185	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 2" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	66.24	\$	198.72	\$ 145.00	\$	435.00
R-186	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 4" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	376.56	\$	1,129.68	\$ 151.00	\$	453.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4429	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	ι	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
■ B-187	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 4" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	376.56	\$ 1,129.68	\$ 151.00	\$	453.00
B-188	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, $6"$ DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	529.41	\$ 1,588.23	\$ 220.00	\$	660.00
B-189	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 6" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	529.41	\$ 1,588.23	\$ 220.00	\$	660.00
B-190	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, $8"$ DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	772.54	\$ 2,317.62	\$ 250.00	\$	750.00
B-191	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 8" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	772.54	\$ 2,317.62	\$ 250.00	\$	750.00
<b>■</b> R_107	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 10" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	1,003.37	\$ 3,010.11	\$ 275.00	\$	825.00
∎ B-1uk	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 10" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	1,003.37	\$ 3,010.11	\$ 275.00	\$	825.00
	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 12" - 14" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	1,541.14	\$ 4,623.42	\$ 345.00	\$	1,035.00
R-195	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 12" - 14" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	1,541.14	\$ 4,623.42	\$ 345.00	\$	1,035.00
R-106	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 16" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	1,918.11	\$ 5,754.33	\$ 400.00	\$	1,200.00
<b>B</b> -10/	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 16" DIA. WATER LINE (ALL DEPTHS)	LF	3	\$	1,918.11	\$ 5,754.33	\$ 400.00	\$	1,200.00
B-198	EMERGENCY - REMOVE AND REPLACE ASPHALT PAVEMENT, 3" HMAC AND 12" LIMESTONE BASE	SY	100	\$	53.76	\$ 5,376.00	\$ 450.00	\$	45,000.00
B-199	EMERGENCY - REMOVE AND REPLACE CONCRETE PAVEMENT, UP TO 12" THICK	SY	80	\$	206.50	\$ 16,520.00	\$ 742.50	\$	59,400.00
B-200	EMERGENCY - FURNISH AND INSTALL TEMPORARY ASPHALT PAVEMENT, UP TO 8" THICK	SY	100	\$	128.33	\$ 12,833.00	\$ 200.00	\$	20,000.00
B-201	EMERGENCY - FLOWABLE FILL BACKFILL, COMPLETE AND IN-PLACE	CY	40	\$	147.50	\$ 5,900.00	\$ 200.00	\$	8,000.00
B-202	EMERGENCY - CEMENT STABILIZED SAND, COMPLETE AND IN-PLACE	TONS	200	\$	118.00	\$ 23,600.00	\$ 150.00	\$	30,000.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4429			C	Clark Pipeline Services, LLC				Guerra Underground, LLC				
PROJECT NO. 23073 Citywide Water Line Repair/Replace – Small Diameter IDIQ			6229 Leopard Street				5114 Balcones Woods Dr. 307-425					
BASE BID			Corpus Christi,TX 78409				Austin,TX 78759					
ITEM	DESCRIPTION	UNIT	QTY	U	INIT PRICE	AMOUNT		UNIT	PRICE	ICE AMOUN		
B-203	EMERGENCY - SITE RESTORATION WITH SEEDING	SF	150	\$	2.48	\$	372.00	\$	1.00	\$	150.00	
B-204	EMERGENCY - SITE RESTORATION WITH SODDING	SF	150	\$	16.52	\$	2,478.00	\$	5.00	\$	750.00	
B-205	EMERGENCY - REMOVE AND REPLACE CHAINLINK FENCE	LF	50	\$	64.90	\$	3,245.00	\$	60.00	\$	3,000.00	
B-206	EMERGENCY - REMOVE AND REPLACE WOODEN FENCE	LF	50	\$	53.10	\$	2,655.00	\$	50.00	\$	2,500.00	
B-207	EMERGENCY - INSTALL NEW CHAINLINK FENCE	LF	25	\$	64.90	\$	1,622.50		60.00	\$	1,500.00	
B-208	EMERGENCY - INSTALL NEW WOODEN FENCE	LF	25	\$	53.10	\$	1,327.50	\$	50.00	\$	1,250.00	
B-209	EMERGENCY - REMOVE AND REPLACE CONCRETE DRIVEWAY	SF	100	\$	13.39	\$	1,339.00	\$	45.00	\$	4,500.00	
B-210	EMERGENCY - REMOVE AND REPLACE CONCRETE SIDEWALK	SF	100	\$	15.82	\$	1,582.00	\$	31.00	\$	3,100.00	
B-211	EMERGENCY - REMOVE AND REPLACE CURB AND GUTTER	LF	150	\$	44.96	\$	6,744.00	\$	73.00	\$	10,950.00	
B-212	EMERGENCY - FURNISH AND INSTALL COPPER OR HDPE SHORT SERVICE (UP TO 5-FT OF COVER)	EA	150	\$	2,050.00	\$	307,500.00	\$	4,000.00	\$	600,000.00	
B-213	EMERGENCY - FURNISH AND INSTALL COPPER OR HDPE LONG SERVICE (UP TO 5-FT OF COVER)	EA	20	\$	2,086.87	\$	41,737.40	\$	6,000.00	\$	120,000.00	
	B-212 EMERGENCY - FURNISH AND INSTALL COPPER OR HDPE SHORT SERVICE (UP TO 5 EA 1  EMERGENCY - FURNISH AND INSTALL COPPER OR HDPE LONG SERVICE (UP TO 5- ΕΔ					\$	3,481,877.48			\$	5,577,385.50	
Part C	ALLOWANCES											
C1	BONDS AND INSURANCE (MAXIMUM 2% OF PROJECT TOTAL)	AL	1	¢	59,900.00	6	59,900.00	¢ 10	29,000.00	¢	129,000.00	
C2	PREPARATION OF TRAFFIC CONTROL PLANS	AL	1	\$ \$	150,000.00	<u> </u>	150,000.00		50,000.00		150,000.00	
C2	DISPOSAL OF CONTAMINATED GROUND WATER	AL	1	φ.	25,000.00	_	25,000.00		25,000.00		25,000.00	
C3	MISCELLANEOUS UTILITY IMPROVEMENTS	AL	1	\$			100,000.00		00,000.00	φ	100,000.00	
C5	SERVICES OF A STATE LICENSED SURVEYOR	AL	1	\$	•	_	30,000.00		30,000.00	\$	30,000.00	
C6	OTHER EMERGENCY ITEMS	AL	1	\$	100,000.00	<u> </u>	·		00,000.00	\$	100,000.00	
00	SUBTOTAL PART C - ALLOWANCES (II		thru C6)		100,000.00	\$	464,900.00	Ψ	70,000.00	\$	534,000.00	
						Ψ	101,000100			Ψ '	30 1,000.00	
	TOTAL BASE BID			\$		3 0	97,013.48	\$		6 4'	35,622.50	
distribute & f	regarding any hidder deemed Non-Pesponsive or Non-Pesponsible*****			Ψ		٠,٥	01,010170	Ψ		o, ~·	00,022.00	

<sup>\*\*\*\*</sup> Notes regarding any bidder deemed Non-Responsive or Non-Responsible \*\*\*\*\*